HIS-ML23.8-Fxxx Models

Front View Side View

596.8 mm
(23.50")
9 S
S ) ey
X _~
c
]
=
)
c »
S
@]
=
K9]
c
& 376.6 mm 298.0 mm 313.6 mm
< (14.83") (11.78") = (1235
g
& b
4]
2
=
o
™M
~
[
5 | p=
£ W
2
o
a 528.6 mm
3 ' (0.35") (1.81")
+—
=
v
©
c
©
©
=)
c
©
<
o]
9]
=
©2025
E Hope Industrial Systems, Inc. Part Number: HIS-ML23.8 Date: 2025.05.08 NOTES: Design to maximum depth of 63.5 mm (behind front edge of panel) to
2 Toll Free: (877) 762-9790 - International: +1 (678) 762-9790 — ensure future compatibility with later revisions and replacement units.
fAls UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: B Page 1 of 8




HIS-ML23.8-Fxxx Models

'\\\\E

x
o

. [le—— 2700 mm ———|
Rear View (10.63") e 50.0 mm (1.97")
|
1o () : o) Cl
° |
|
R B i
IO ~ CONTROL PANEL
. L BUTTONS
£ 100 mm VESA L
= MOUNTING PATTERN — ] b | i,
E (M4 SCREWS PROVIDED, . |
2 16 mm MAXIMUM DEPTH : §
i OF SCREW) | 181.4 mm
£ | (7.14")
C
: RSN
3 15 (4 ; © — @P
§ |
= DISPLAYPORT USB SERIAL
o AC VIDEO N]%z
b F]ﬁﬁquTR DC DVI- VIDEO
S POWER  (HDMiandvGa  (for Touch Screen
% INPUT via Adapter) option)
e Bottom View
3
= | 540.0 mm
o ‘ (21.26") 55.0 mm (2.16")
5
S |
o Q
§ 89mm —
= (0.35") 596.8 mm !
(23.50") ©2025
Hope Industrial Systems, Inc. Part Number: HIS-ML23.8 Date: 2025.05.08 | NOTES:

Toll Free: (877) 762-9790 - International: + 1 (678) 762-9790 —
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: B Page 2 of 8




Mechanical and Cutout Drawings — 23.8" Widescreen Panel Mount Monitor

HIS-ML23.8-Fxxx Models

Bottom View (showing Cable Connections)

T T = =~——— M5 NUTS (10 PLACES, PROVIDED)
[ ' ' T=— REAR COLLAR
l | EI]I]I]I]I]I]I]I]I]I]I]I]I]I]I][II]I]I]I]I]I]TI]I] 3 EI?? BD | I
‘ DISPLAYPORT | USB — SERIAL
0 (RS-232)
POWER DVI-I VIDEO
INPUT (HDMI and VGA (for Touch Screen option)
via Adapter)

Mounting Diagram

©2025

A\

Hope Industrial Systems, Inc.
Toll Free: (877) 762-9790 - International: +1 (678) 762-9790
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com

Part Number: HIS-ML23.8

Date: 2025.05.08 NOTES: Compress collar with torque 1.13-1.7 N-m (10-15 inch-pounds) or until

Revision: B

molded frame sits flush against front of the panel

Page 3 of 8




HIS-ML23.8-Sxxx Models

Front View Side View

595.5 mm
(23.44"
5 ) [P
= —~
c
]
=
)
c D
S
]
=
k7]
c
L 373.0 mm 298.0 mm ] 3136 mm
c (14.69") (11.73") b (12.35"
g
& p
4]
RS
=
@
™M
~
[
= | Do
£ al
2
o
a 528.6 mm
3 ' (0.39") (1.88")
+—
S
v
©
c
IS
©
R
c
©
<
]
]
=
©2025
E Hope Industrial Systems, Inc. Part Number: HIS-ML23.8 Date: 2025.05.08 NOTES: Design to maximum depth of 63.5 mm (behind front edge of panel) to
2 Toll Free: (877) 762-9790 - International: +1 (678) 762-9790 — ensure future compatibility with later revisions and replacement units.
fAls UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: B Page 4 of 8




Mechanical and Cutout Drawings — 23.8" Widescreen Panel Mount Monitor

HIS-ML23.8-Sxxx Models

_ -~ 2700mm — ]
Rear View (10.6;?';n ~——— 50.0 mm (1.97")
|
o (5 I o 9
[
R t
I ™~ CONTROL PANEL
i \ BUTTONS
100 mm VESA D
MOUNTING PATTERN — S
(M4 SCREWS PROVIDED, o | .
16 mm MAXIMUM DEPTH | ®
[
OF SCREW) B 4 Jﬂ 1791
| (7.05")
|
R !
- ] l () ! .
DISPLAYPORT USB\—SERIAL
AC—1  VIDEO (RS-232)
FI(N)?UETR DC DVI-I VIDEO o Touch
POWER  (HDMiandvGa  (forTouch Screen
INPUT  via Adapter) option)
Bottom View
I 540.0 mm
‘ (21.26) 57.7 mm (2.27")

|

'\\\\ES

x
o

9.8mm — ‘ ‘
(0.39" 595.5 mm !
(2344") © 2025
Hope Industrial Systems, Inc. Part Number: HIS-ML23.8 Date: 2025.05.08 NOTES:

Toll Free: (877) 762-9790 - International: + 1 (678) 762-9790 —
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: B Page 5 of 8




Mechanical and Cutout Drawings — 23.8" Widescreen Panel Mount Monitor

HIS-ML23.8-Sxxx Models

Bottom View (showing Cable Connections)
P P P #<+—— M5 NUTS (10 PLACES, PROVIDED)

| J+—— REAR COLLAR

DISPLAYPORT | USB L sERiAL
VIDEO (RS-232)
POWER DVI-I VIDEO
INPUT (HDMI and VGA (for Touch Screen option)

via Adapter)

Mounting Diagram

©2025

'\\\\E

x
o

Hope Industrial Systems, Inc. Part Number: HIS-ML23.8 Date: 2025.05.08 NOTES: Compress collar with torque 1.13-1.7 N-m (10-15 inch-pounds) or until
Toll Free: (877) 762-9790 - International: + 1 (678) 762-9790 — bezel sits 1.6 to 2.4 mm (1/16" to 3/32") off front panel
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: B Page 6 of 8




Mechanical and Cutout Drawings — 23.8" Widescreen Panel Mount Monitor

Cutout Dimensions (All Models)

342.4 mm
(13.48")

566.7 mm
(22.31"

3/8" MAX PANEL
THICKNESS WITH
STANDARD COLLAR

©2025

'\\\\E

x
o

Hope Industrial Systems, Inc.

Toll Free: (877) 762-9790 - International: +1 (678) 762-9790
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com

Part Number: HIS-ML23.8

Date: 2025.05.08

Revision: B

Page 7 of 8

NOTES: +0.5 mm (0.020") tolerance on cutout dimensions




VB-22A Accessory Mounting Bracket

Rear View
497.8 mm
(19.6")
Iy e L] Ol isML23.8 MONITOR
° QO00-0D ©
8 —> ACCESSORY
c
- 180.1 mm BRACKET
= (7.09"
S 75AND 100 MM
§ VESAMOUNTING
3 o o PATTERN (See Notes)
c I
b}
Q g
g D E
= : e
% R o . —
m
oN
|
o)
£
3 Bottom View
()
5
o
5
|
T ACCESSORY
o BRACKET
S
c
©
e
9 < 596.8 mm !
= (23.50")
© 2025
E Hope Industrial Systems, Inc. Part Number: HIS-ML23.8 Date: 2025.05.08 NOTES: 23.8" Monitor comes standard with 100 mm VESA Mounting Pattern;
Z | Toll Free: (877) 762-9790 - International: + 1 (678) 762-9790 —— Accessory Bracket is for drilling new mounting when required.
Als UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: B Page 8 of 8




